General Chemistry
Mr. MacGillivray
Teach Yourself Solution Stoichiometry!

__ Ca(OH), (aq) + H,PO, (ag)—» __ Ca,(PO,), (aq)+ _HOH(I)
PROBLEM:@What volumg)of 0.250 M phosphoric acid (HiPOg) is required to neutralize 35.2
calcium h

mi of 0.338 roxide, Ca(OH),?

1. Balance the equation above.
2. Fill in the blanks toset up your knowns jand unknowns.

_3 Ca(OH), (aa) {_AH.PC, (agf>__Ca,(PO,), faa)+ £ HOH()
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3. Find the number of moles of calcium hydroxide. Use M=n/V. Show calculations. Units
have to cancel, so use liters! Fill in the answer in the “mol” box under Ca(OH)..

E_CaIOle* (ag) +£H3P04 (aq) > ___Ca,(PO,), (aq)+ é_HOHtli :
5.2 Iml | %7 /m_l@ @p=1

. ¢
0335 | T [0.280 T Mv=v]

¥ = ©-38)p.0352)~1
BT 014 | mot (2073 Fno o0l TV

\ 4. Convert from mol of calcium hydroxide to moles of phosphoric acid. Show your
O calculations. Fill in the answer aboyg in the ‘m Io"' box under phosphoric acid.
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5. Use M=n/V to find the number of liters of H3PO,4. Conyert to ml and fill in the answer ©!
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6. Repeat the above procedure for the following problem: How many ml of a 0.312 M

; i ?
solution of Pb(NQ3), are needed to react completely with 75.0 ml of 0.500 M Nal? _ 0.0 18’75 ml

N ~ 0.0/875 m
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